#X—Ik2 (A4

TH2F 5A%

HERETRR/KE BHEEKEARERREE
KBRS 8:30
KEHABRERE (ETNEKSE HKkHF (EK) )
B|Xg|KBE|KE|B E|pH|7LaU| BE | &% [Eth| & AR

= BB AF Y

C C E mg/l | mg/l | mg/1 | mg/l | mg/l | mg/l
11 B 15.0 [ 15.4 22.1 (7.79
2| B 16.0 | 16.2 20.6 | 7.83
3 = 18.0 | 17.3 17.4 17.84
4 ™ 16.0 | 16.0 12.3 17.84
5| BE 18.5 | 16.0 13.7 117.97
6| BE 17.5 [ 17.1 26.6 | 7.88
1 B 15.0 | 16.4 22.7 | 7. 81
8| BE 16.0 | 15.8 30.3 [ 7. 81
9 = 14.0 | 15.1 29.0 (7. 81
10 M 18.0 | 14.6 22.3 | 7.82
M £ 19.0 | 15.6 515 17.83
12| W& 18.0 | 17.6 321 | 7.86

13| BE 18.0 | 17.2 95.5 (7. 81 44.0 61.0 226 4.3 4. 31 0.08
14| B 18.5 [ 17.0 73.0 [7.88
15| HBE 17.0 | 16.6 37.6 |7.82
16| M 17.0 | 16.8 20.5 [ 7.83
17| B 18.0 | 15.5 70.2 (7.87
18| B 20.0 | 18.5 86.7 [7.82
19 M 17.0 | 17.3 58.4 [ 7. 81

200 = 17.0 1 17.4 235 117.73 39.0 | 56.0 358 2.7 | 10. 41 0.23
21| 2 14.0 | 16.7 148 | 7. 87
22| HE 15.0 | 14.5 105 | 7.80
23| BE 17.0 [ 17.0 55.3 [7.80
24| = 19.0 |1 18.0 32.8 [ 7.78
25| 2 14.0 | 18.3 25.4 | 7.86
26| = 19.5 1 18.5 37.0 [ 7.82
27| BE 21.0 | 17.7 18.2 | 7.91
28| = 20.5  19.3 29.7 17.80
29| BE 20.0 | 18.1 40.0 | 7.82
30| mE 23.0 1 17.8 29.5 [ 7.86
3| =2 19.0 | 18.1 24.9 [7.92

£ 17.6 | 16.9 73.4 [7.84 | 41.5 58.5 292 3.5 7.36 0.16

1= 23.0 1 19.3 515 [ 7.97 44.0 61.0 358 4.3 | 10. 41 0.23

B 14.0 | 14.5 12.3 [7.73 39.0 | 56.0 226 2.7 4. 31 0.08




SH2F 5/8%

HESETERKE #HEEKEARRERRESE
KBRS 8:30
KERBRER (STIEKE HKkt (%K) )
B |X&E | KE|KER|& E|pH|7Lrh)| BE | 2% &Y #% EOZN IR I
E HREW | A4 Ay
C E mg/l | mg/l | mg/l | mg/l | mg/l | mg/l

1 5 15.0 | 14.8 0.6 |7.48

2 & 16.0 | 15.4 0.6 | 7.47

3 = 18.0 1 16.3 0.6 |7.46

4 5] 16.0 | 16.6 0.4 |7.51

5 i 18.5 [ 16.4 1.3 [7.60

6 & 17.5 [ 17.2 0.917.62

Ji 5 15.0 | 16.7 0.8 |7.56

8 & 16.0 | 15.8 1.0 (7 34

9 = 14.0 1 15.2 0.717.39

10 5] 18.0 | 15.1 0.9 17.52

11 = 19.0 1 16.0 0.8 7.54

12 & 18.0 [ 16.5 0.4 17.34

13 5 18.0 [ 16.9 0.6 |7.42 36.0 59.0 103 8.2 0.03 <0.02
14 iE 18.5 [ 17.3 0.6 |7.44

15 5 17.0 | 16.5 0.8 17.40

16 5] 17.0 | 16.7 0.6 17.39

17 5 18.0 | 16.2 0.4 17.50

18 & 20.0 | 17.1 0.5 7. 44

19 [55] 17.0 [ 17.8 0.817.35

20 = 17.0 1 17.3 0.6 17.35 34.0 54.0 98 6.9 0.03 <0.02
21 = 14.0 1 17.0 0.6 | 7.47

22 & 15.0 [ 15.7 1.0 [7.46

23 5 17.0 | 16.3 0.717.41

24 = 19.0 | 17.5 0.517.48

25 = 14.0 1 18.3 0.517.55

26 = 19.5 1 18.8 0.517.49

27 i 21.0 1 18.4 0.6 17.49

28 = 20.5 1 18.9 0.6 |7.42

29 5 20.0 |1 19.3 0.4 17.47

30 & 23.0 | 18.7 0.517.49

31 = 19.0 ] 18.4 0.517.46
T3 17.6 | 16.9 0.6 |7.46 35.0 56.5 101 7.5 1 0.03 <0.02
3= 23.0 1 19.3 1.3 117.62 36.0 59.0 103 8.2 0.03 <0.02
ax{K 14.0 | 14.8 0.4 17.34] 34.0 54.0 98 6.9 0.03 <0.02




